‘@E ARTISAN / HOLDEN / STRATFORD

TV STAND
REQUIRES 2 PEOPLE MEUBLE-TELE
FOR EASE OF ASSEMBLY .
ITEM NUMBER / NUMERO D’ARTICLE
meTN gy CHOLODS
L'ASSEMBLAGE

USER ASSEMBLY GUIDE
GUIDE D’ASSEMBLAGE

b\

\

Like us on facebook. Suivez-nous sur facebook.

& share your pictures and  partagez vos photos et vos
lijl comments to be eligible commentaires afin d’étre admissibles

for exclusive promotions.  a des promotions exclusives.

www.facebook.com/simplihomefurnishings

DO NOT RETURN

FOR REPLACEMENT PARTS OR POUR OBTENIR DES PIECES DE REMPLACEMENT
OTHER INQUIRIES OU POUR AUTRE DEMANDE, VEUILLEZ
PLEASE CONTACT US AT: COMMUNIQUER AVEC NOUS:

CUSTOMERSERVICE@AXCESS-WORLD.COM CUSTOMERSERVICE@AXCESS-WORLD.COM
PLEASE BE SURE TO HAVE THE MODEL VEUILLEZ-VOUS ASSURER D’AVOIR EN
NUMBER FROM THE PACKAGING OR MAINS LE NUMERO DE MODELE OU LE
INSTRUCTION BOOKLET. LIVRET D’ASSEMBLAGE.

wM“HaEEA SIMPI! brooklyn + max'gg

OME DECOR H O M E L5 8 R

For more information visit us on our website www.simpli-home.com

112




ARTISAN / HOLDEN / STRATFORD

TV STAND

MEUBLE-TELE

INFOGRAPHIC LEGEND / LEGENDE GRAPHIQUE:

In relative spatial arrangement to the assembled unit / Disposition par rapport a I'assemblage

NN Panel: Inner side Panel: Outer side @ Back G Front G Top y‘ Bottom
Panneau : cOté intérieur Panneau: cOté externe Arriére Avant Supérieur "4 Inférieur
4| 5| O O ..
Top Sides Centre Shelf Bottom Shelf viaer
Dessus Cotes Tablette Centrale Tablette Inférieure Se
1PIECE ONE PAIR 1PIECE 1PIECE ONE PAIR
1 PIECE UNE PAIRE 1PIECE 1PIECE UNE PAIRE
o o] o o
Door Shelf part Shelf part Back panel Back panel
Porte Support de tablette Support de tablette Panneau arriere Panneau arriére
ONE PAIR 4 PIECES 1PIECE 1PIECE I 1PIECE
UNE PAIRE 4 PIECES 1 PIECE 1 PIECE 1 PIECE
| K] M| « K o]
Back panel Drawer front Drawer side Drawer back Drawer bottom
Panneau arriére Avant du tiroir C6té du tiroir Arriére du tiroir Bas du tiroir
2 PIECE U 2 PIECES 2 PIECES 2 PIECES
2 PIECE 2 PIECES 2 PAIRES 2 PIECES 2 PIECES

REQUIRES 2 PEOPLE FOR EASE OF ASSEMBLY
REQUIERT 2 PERSONNES POUR FACILITER L'ASSEMBLAGE

HARDWARE / QUINCAILLERIE

2] (4] 5|

i\
i) ‘
Cam Lock Pin Phillips Screw Phillips Screw
Allen Key Screw Goujons de Serrage ; i nrips
Vis Allen ujCam Lok Y Allen Key Vis cruciforme Vis cruciforme
M6 x 30 mm Verrou ClefAllen M3 x 12 mm M3 x 15 mm
26 PIECES 20 SETS 1 PIECE 12 PIECES 8 PIECES
26 PIECES 20 ENSEMBLES 1 PIECE 12 PIECES 8 PIECES
a 8 9 10
: \ \’/? .
' ) T .
\% / a, M4 x 25 mm - 1 PIECE - 1 PIECE
2
Phillips screw round head Handle b. ? M4 x 15 mm - 1 PIECE - 1 PIECE
. ) x i o Magnet and Plate Shelf S rt
Vis cruciforme a téte ronde Poignée Aimant et Plague s ;ort éugp;)(l)eﬁe ‘
M4 x 15 mm M4 x 30 mm C. M4 x 25 mm - 1 PIECE - 1 PIECE
25 PIECES 4 SETS 2 SETS 30 PIECES TIPPING RESTRAINT - 1 SET
25 PIECES 4 ENSEMBLES 2 ENSEMBLES 30 PIECES COURROIE DE RETENUE - 1 ENSEMBLE

2112




ARTISAN / HOLDEN / STRATFORD
TV STAND
MEUBLE - TELE

NOTICE / AVIS

:C(][D Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 1
1. Attach 4 Cam Lock Pins @ to back of Drawer Front @

2. Insert 2 Cam Locks @ into pre-drilled holes on each Drawer side @

3. Align Cam Lock Pins with Cam Locks and attach Drawer Sides @

4. Use flathead screwdriver secure Cam Locks.

ETAPE 1

1. Fixer 4 goujons de serrure @ au dos de la Avant du tiroir @

2. Insérer 2 verrous @ dans les trous prépercés de chaque c6té du tiroir @ .
3. Aligner les goujons de serrure avec les verrous et relier les c6tés du tiroir @ .

4. Utiliser un tournevis a téte plate pour fixer solidement les serrures

STEP 2

1. Slide Drawer Bottom @ firmly into slots on Drawer Sides @ and Drawer Front @

ETAPE 2

1. Faire glisser le bas du tiroir @ dans les coulisses cotés du tiroir @ et a la avant du tiroir @

312




ARTISAN / HOLDEN / STRATFORD
TV STAND
MEUBLE - TELE

NOTICE / AVIS

:C(][D Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 3
1. Align Drawer Back @ with Drawer Bottom @ and press firmly into slot.

2. Attach back using 2 Allen Key Screws @ through pre-drilled holes on each side.
3. Use Allen Key @ to tighten. Do not over tighten.

ETAPE 3

1. Aligner l'arriere du tiroir @ avec le bas du tiroir @ et presser fermement.
2. Fixer l'arriere au moyen de 2 vis Allens @ dans les trous prépercés de chaque coté.

3. Utiliser la Clef Allen @ pour serrer. Ne pas trop serrer.

STEP 4
1. Use Phillips screwdriver to attach Handle @ to Drawer Front @

ETAPE 4
1. Utiliser un tournevis a téte étoilée pour fixer la poignée @ a la avant du tiroir @ .

4/12




ARTISAN / HOLDEN / STRATFORD
TV STAND
MEUBLE - TELE

NOTICE / AVIS

:ﬂ@ Please use a screwdriver for the screws. The screwdriver is not included in the pack.

SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP5

1.

Attach 3 Cam Lock Pins@ to each divider @

2. Align Cam Lock Pins with pre-drilled holes and attach Center Shelf @

3. Insert 6 Cam Locks @ into pre-drilled holes on Center Shelf @ .

4. Use flathead screwdriver secure Cam Locks.

ETAPE 5

1. Fixer 3 goujons de serrure @ au chaque séparateur @ .

2. Aligner les goujons de serrure avec les trous prépercés et relier les Tablette Centrale @ .
3. Insérer 6 verrous @ dans les trous prépercés de Tablette Centrale @ .

4. Utiliser un tournevis a téte plate pour fixer solidement les serrures

5112




ARTISAN / HOLDEN / STRATFORD
TV STAND

MEUBLE - TELE

NOTICE / AVIS

:ﬂ@ Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 6
1. Attach dividers @ to bottom shelf @ using 6 Allen Key Screws @through pre-drilled holes.

ETAPE 6
1. Fixer les séparateurs @ a la tablette inférieure @ au moyen de 6 vis Allens @

dans les trous prépercés.

6/12




ARTISAN / HOLDEN / STRATFORD
TV STAND

MEUBLE - TELE

NOTICE / AVIS

:C(][D Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

Ll e

\

N
Ny
I~/

(
4

- /
/
?Q
7

STEP 7
1. Attach 6 Cam Lock Pins @ to 2 Sides using guide holes.

2. Place 6 Cam Locks @ into pre-drilled holes in bottom shelf @
3. Align and insert Cam Lock Pins on Sides into Cam Locks @ on bottom shelf @

4. Using a flathead screwdriver tighten Cam Locks into Pins.

ETAPE 7

1. Fixer 6 goujons de serrure @ a 2 cotés en se guidant sur les trous.

2. Placer 6 verrous@ dans les trous prépercés de la tablette inférieure @

3. Aligner et insérer les goujons de serrure sur le cotés dans laverrous @de la tablette inférieure @ .

4. Utiliser un tournevis a téte plate pour serrer les verrous sur les goujons.

712




ARTISAN / HOLDEN / STRATFORD
TV STAND

MEUBLE - TELE

NOTICE / AVIS

:C(][D Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 8
1. Attach Top @ to 2 Sides and 2 dividers @ using Allen Key Screws @ through pre-drilled holes.

2. Use Allen key @ to tighten screws .

ETAPE 8
1. Fixer les Dessus @ ala 2 cotés et au 2 séparateurs @ au moyen de vis Allens @
dans les trous prépercés.

2. Utiliser une clef Allen @ pour serrer lesvis .

8/12




ARTISAN / HOLDEN / STRATFORD
TV STAND

MEUBLE - TELE

NOTICE / AVIS

:C(][D Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 9
1. Using Phillips Round Head Screws @attach Back Panels @ @ @ to back of TV Stand.

ETAPE 9
1. Au moyen de vis cruciforme a téte rondes@ fixer les panneau arriéres @ ® @

a l'arriere du meuble-télé.

912




ARTISAN / HOLDEN / STRATFORD
TV STAND
MEUBLE - TELE

:C(][D Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

NOTICE / AVIS

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 10
1. Attach Adjustable Hinges to Doors @ and Sides using Phillips Screws @

2. Attach Magnet Plates to bottom corner of Doors @ using Phillips Screws @ into guide holes on Doors @ .
3. Attach Magnet using Phillips Screws @ into guide holes on Bottom Shelf @ .
4. Use a Phillips screwdriver to attach Handles @ to Doors @ .

ETAPE 10

1. Fixer les charnicres ajustables aux portes @ et cotés au moyen de petites Vis cruciforme @

2. Fixer les plaques aimantées au bas des portes @au moyen de grandes vis cruciforme @ dans les trous des portes @
3. Fixer l'aimant au moyen de vis cruciforme @ en se guidant sur les trous de la tablette inférieure @ .

4. Utiliser un tournevis a téte étoilé pour fixer les poignées @ aux portes @ .

10/12




ARTISAN / HOLDEN / STRATFORD
TV STAND

MEUBLE - TELE

NOTICE / AVIS

Please use a screwdriver for the screws. The screwdriver is not included in the pack.

SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 11 W

1. Use Shelf Supports @ for each shelf @ or @ in desired location.
2. 2 Shelf Supports @ may be used on back top of each shelf @ or @ as a tipping restraint.

ETAPE 11

1. Utiliser les supports a tablette @ pour chaque tablette @ ou @ a la position souhaitée.

2. 2 supports a tablette peuvent étre utilisés a I'arriere du dessus de chaque tablette

@ ou @ en guise de bride de fixation.

STEP 12
ETAPE 12

112




ARTISAN / HOLDEN / STRATFORD
TV STAND
MEUBLE - TELE

NOTICE / AVIS

:C(][D Please use a screwdriver for the screws. The screwdriver is not included in the pack.
SVP utilisez un tournevis pour les vis. Le tournevis n’est pas fourni avec le produit.

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS D’ASSEMBLAGE

STEP 13
ETAPE 13

STEP 12 &13 To attach Tipping Restraint @

Installation Instructions:

1.Attach one of the mounting brackets securely to the back edge of the furniture. Use the shorter screw.

2.Determine where furniture is to be placed and mark location on the wall for the mounting bracket screw hole approximately 2” below
the bracket mounted to the edge of the furniture.

3. Drill a 3/16” hole in the wall. Press the plastic anchor into the hole and gently tap until the flange on the anchor is against the wall
surface.

4.Position the bracket over the anchor and use the long screw to securely attach the bracket to the wall.

5. Place the furniture so the bracket on the back edge is in line with the bracket on the wall.

6. Lace an end of the nylon restrains strap down through each brecket. Bring both ends together and slide the beaded end of the strap
through the keyhole shaped slot in the other end until snug. Pull down on the beaded end until it snap locks into the keyhole slot.

7. To double lock return the beaded end back through the keyhole as shown.

8. Check to make sure the strap is securely laced and locked to the brackets.

ETAPES 12 et13  Pour installer la bride de fixation

Instruction d’Installation:

1.Visser s’ecuritairement une des plaquettes de montage sure le champ arriére du meuble. Utiliser la visse la plus courte.
2.Déterminer I' emplacement du meuble et marquer le mur a environ 2” plus bas que la plaquette vissée sur le meuble, afin de
determiner la position du trou a percer pour la plaquette d’assemblage au mur .

3. Percer un trou de 3/16” & I’ aide d’une perceuse.Incérez délicatement I'ancrage en plastique dans le trou en vous assurant qu'il soit
enfoncé jusqu’ & ce que le rebord de I’ encrage soit a I'égalité du mur .

4 .Positioner la plaquette de montage sur I'encrage et vissez-la sécuritairement a I’ aide de la visse la plus longe .

5. Repositionner le meuble de facon a ce que la plaquette du meuble soit enlingnée avec celle sur le mur.

6. Insérer une extrémité de la couroie de nylon dans chaque plaquette. Réunir les extrémités et passer le bout de la courroie dans
I'oeillet de I'autre extrémités et serrer fort .

7. Pour barrer simplement repasser de nouveau le bout de la couroie dans I'oeillet tel qu’illustré ci-haut .

8.Assurez-vous que la courroie soit bien inséreé dans l'oellet et qu’elle soit barrée de facon sécuritaire .

12/12




